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, IF & ="Y ORa$ ="y THEN GOSUB YUAN
, , IF a$ ="n ORa$ ="N THEN GOSUB YUAN
PS= 0: INPUT (Kps)'; Pas
FOR j= 1TO 3:
’ ’ ’ IF j= 1 THEN PRINT” ".:INPUT xh
PRINT” //;j; ! (mm)”; :
JYP- 24 INPUT D
’ ’ PRINT ( Vs
, INPUT N
VL]J= 0: LLJ= 0: PLJ= 0: TLJ= 0:
(1) 1 FOR i= 1TO N: V=0: 1= 0: P=0: T=0
PRINT” "oy
(L/min)" ; : INPUT 1
(2) ) PRINT” (PIT
(Kps) ; : INPUT P
PRINT " "o
(3) (C)"; :INPUT T
(4) V=132 9% 1/D/D* SQR((Pas— P)/(273+ T))
VLJ= VLJ+ V: LLJ= LLJ+ 1: PLJ= PLJ+ P:
(5) ( 40% ) TLJ= TLJ+ T
NEXT i
lius= INT( VLJ/ N* 100+ .5)/100: LLJ=
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CLS
a: INPUT ? (y/n) ; a$
1 h~ 2h, COD 6 000 , ,
500 h , 840 L, 90 L,
1, 100 L 120 s
500h 4 000 900
~ 5000 ,
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